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40-2E%F 1Ak AN A A
50-2E&F1Ab A O O
60-2EXFIAR X A O
70-2E%F1Ab O O O
80-2EXFIAL A O AN 3/21
40-3E&FIAL AN X 4/10 O
50-3E&F1Ab AN 4/10 X 4/10 A
60-3E%F1Ab A X 3/21 X
70-3E&F1Ab @) 3/21 O X 3/21
80-3E&FIAk X 3/21 X 3/21 X 4/10
40-4E%F 1A+ AN A A
50-4E&F1Ab O X 3/21 A 3/21
60-4E%F1Ab X 3/21 A 3/21 X 4/10
70-4E%F1Ab O A 4/10 X
80-4E%F1Ab X 3/21 X O
40-5E&FIAk AN AN 4/10 A
50-5E&F1Ab AN A 4/10 O
60-5EXFIAR O X 3/21 X 3/21
70-5E&F1Ab A 3/21 A 4/10 X 4/10
80-5E%F1Ak X 3/21 X 4/10 X 3/21
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FEERR : O=1EESD. A =EODIH(1~2%K), x =TEERL
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